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The Jigures ln the margin indlcate
full marks for the questlons,

Answer ang fiae questions.

(a)

0

@

(b)

1. Compute the correlation of these pairs
of signals - 5+5=10

"(")- {s, L 2, -r}, n(n) = u(n)

*(n)= 
{ 

s, 
?,r, 

,}, n@) = {r, ,,?,r}

Write down the classification of signals.

Contd.



2.

Check the periodicity of cos (O.OZ tTn).
5

A discrete-time signal
*(") = {2, 4, L, (4), - 1, 4,2}. Sketch
and label each -

(u) x(n -1) d(n - 1 ) 2+4+2+2+2=12

(b) State the significance of impulse
response 4

(c) When a system is said to be
memoryless ? 4

3. (a) What is aliasing ? 5

(b) Write the 3rd ord.er difference equation.
5

(c) Draw the u (tl- u(t- 3). 5

(d) Define Fourier transform. 5
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(b) Determine the causal
the Z-transform -
v( -\- 1
.L\4 l--\ / 

(r* e'-')$-z;')
(c) Check whether the following system

static and causal.

a@)= x(n+2).

(d) Find out x(n)=u(rr )- u(n+2).

5. (a) Compute the convolution of-

(t) "(") - {2, s,2,6\, n(") = {L, 4,3, s, 1 }

(it) "(")= {3, 5,2},n(")=u(n) 
,*r=ro

(b) Verify whether the given system
described by a (t) = x(2tl is linear and
time invariant.

(c) Find period T of x(z)=Scos2fi. s
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4. (a) Determine the power and RMS value
the following signals: 3+3,

UU)= Scos(l0 t* %), a(t )= "r" 
2t* cos3t



6. (a) tt(r)= , (t-'-t ) '

(r - sr-t +ar-')

0 Determine the difference equation.

(it Show pole-zero diagram.

(iit) Find the impulse resPonse.
4+$+3=19

What are the conditions for a system
to be LTI system ? 5

Define linear and non-linear system.
5
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(c)

4


